
Structura, Inc. | 9635 Widmer Rd., Lenexa, KS 66215 | 913.390.8787 | www.structura.com 

Screw Holes

Elm Column
Installation Instructions

Warnings

CAUTION—risk of fire and this product must be installed 
in accordance with the applicable installation code by a 
person familiar with the construction and operation of the 
product and the hazards involved.

Suitable for wet locations.

Mounting orientation must have light source facing down.

Electrical service must be disconnected during installation.

Proper grounding is required to protect against shock and 

proper operation.

Tools Required

T20 Tamper-resistant drive for handhole cover screws
3/4” socket or wrench for anchor bolts

Wiring tools and connectors

Bollard Installation

Step 1: Turn off power to location. 

Step 2: Put on (4) 3/4” washer then secure (4) 3/4-10 hex 
nuts to anchor bolts as seen in Figure A.

Step 3: Slide the baseplate cover together so that the 
screw holes line up as seen in Figure B

Step 4: Secure (6) 8-32 x 1/2” SS Torx screws into 
baseplate cover as seen in Figure C

Step 5: Remove handhole cover.

Step 6: Connect to power.

Step 7: Re-secure handhole cover.

Step 8: Turn power back on.

3/4” Washer

3/4-10 Hex Nut

8-32 Tamper-
Resistant Torx

8-32 Tamper-
Resistant Torx

Baseplate Cover

Figure A

Figure B

Figure C Figure D



Structura, Inc. | 9635 Widmer Rd., Lenexa, KS 66215 | 913.390.8787 | www.structura.com 

Elm Column
Installation Instructions

Bollard Wiring

Step 1: Connect input power to driver pigtail as shown 

above.

Step 2: Connect dimming wires to remote dimmer (by 
others) if applicable.

Step 3: Connect grounding wire to ground pigtail attached 
to driver box tray.

Base Detail

AC/L (Black)

AC/N (White)

GND (Green)

AC/L (Black)

100-277V

Driver Compartment

Static White RGBW

Driver Compartment

24V 100-277V 24V

AC/N (White)

GND (Green)
D+D+ D-D- GND

W-
B-
G-
R-
+

+

-

12”

12”

15.75”

15.75”

DMX controller


